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#include <stdio.h>

typedef struct{ /*index,value %X /NI b OffiE{F records*/
int index; /*WOEEXDEHEL 2 BH*/

int value; /*5 —&AR{f*/

}records;

/*data[ 10 left 73b mid-1 OEFE L mid 25 right-1 OEHREF —RRER OS] temp[ 1%
BALT, Y—FLARRLHEETHEE =/
void merge(records data[], records temp[], int left, int mid, int right)

{

int i = left;
int j = mid;
int k = 0;
int 1 = 0
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while (i < mid && j < right) {
if (data[i].index <= data[j].index) {
temp[k++] = data[i+t+];
} else {
temp[k++] = data[j++1;

if (i == mid) {
while (j < right) {
temp[k++] = data[j++];

}
} else {
while (i < mid) ({
temp[k++] = datali++];
}

}
for (1 = 0; 1 < k; 1l++) {
data[left + 1] = temp[l];

b

}

/*datal | & D HEs/

int merge_sort(records data[], records temp[], int left, int right) {.
int mid;
if (left == right || left == right - 1) return 0;
mid = (left + right) / 2; '
merge_sort(data, temp, (1) |, mid);
merge_sort(data, temp, (2) J (3) );
merge(data, temp, left, mid, right);
return 0;

}

int main{void){
/*index 2% LTHIEIZY — b3 57 — ZEF|*/
records data{8] = {{0,5},{4,5},{7,7},{2,2},{0,1},{2,3},{5,6},{7,0}}:
records temp[8] = {0};
int i;

merge sort(data, temp, 0, 8);
for (i = 0; 1 < 8; i++) {

printf{"sd,"”, datali].value);
}

return 0;
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